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Show that the overall reaction is
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(mestion 4
This guestion relaltes o the whole of Block 1, dn

particular the skll af wriring a non-teclinical aocount af

& soientific tepic, ft carrigs 253% of the marks for this
XS RIEITL

The skill of wnting a nen-techmical account of 4
scienbific. iopic has broad applications. To make it morne
apecific vou have o imsgine bere that you are writing
an article for your [ocal newspaper — please fisten to
audio band 1. Writing a newspaper article, for general
advice before von tackle this exercise. However, 0t is
important for vou to realize that the skills that this
exercise will help you 1o develop are relevant to many
other sorts of written communication of a scientific
i 1o o non-screniific mediemes
For your ariiche, marks are available as follows:
= 5 prarks for the evidence it contains showing that
you understand the topic.
= 2 marks for bis effectivencss as a piece of writlen
CONMITIL TG AT,

The article shonld address ONE of the following
options. In cither case, it mogr be J-500 wards in

lengih,

Oiption 1

On 11 August 999 a total solar eclipse will be visible
from Cornwall, lasting a litde over 2 minutes. Imagine
that you are writing an article to tempt people 1o make
the journey fo see L You will need 10 explain what
causes such an eclipse, and explain what will be seen -
notably solar prominences and the corona. You must
warn pecphe not 1o ook at the Sun until the: eclipse is
total. BMention the British weather!

Dption 2

Imagine that it has been discovered thar the Sun i parl
of & bMnary sysiem in which the companion is a brown
dwarf in a highly elliptical orbit with an orbital period of
about 107 vears, I s getting closer and iz just about
vigible in the night sky (without optical ad) rowghly
the direction of Betelgeuse (in Orton)! In vour artecle,
aplam

+ wwhat 4 brown dwarfis

= why it has been previcusly invisible in recorded
mslory

= where W find the brown dwarf in the sky

[ro reassure your readers that it will not collide with the
Earth!

You are strongly advised to do (Questions 1 and 2 of
THMAG2 [the nexi THMA) BEFORE you embark on

your stndy of Rlock 2.
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